Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL .

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #	API No. 15 - 135-24242-00-00
Name: Hess Oil Company	County: Ness
Address: P. O. Box 1009	App _N2 _ S2 _ NW Sec. 5 Twp. 16 S. R. 22
City/State/Zip: McPherson, KS 67460	3612 feet from S / ≯ (circle one) Line of Section
Purchaser:NCRA	1320 feet from 15 / ((circle one) Line of Section
Operator Contact Person: Bryan Hess	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 241-4640	(circle one) NE SE NW (SW)
Contractor: Name: Mallard JV, Inc. FEB 1 7 2004	Lease Name:Janet
License: 4958	Field Name: Waring
Wellsite Geologist: James C. Hess	Producing Formation: Mississippi Conglomerate
Designate Type of Completion:	Elevation: Ground: 2344' Kelly Bushing: 2349'
New Well Re-Entry Workover	Total Depth: 4402' Plug Back Total Depth:
<u>✓</u> Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ✓ Yes ☐ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFee
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1667'
Operator:	feet depth to surface _{w/} 235 sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chlorida content pam Eluid valuma bbla
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
40.40.00	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🔲 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulat	te the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	
Signature: Dell Hess	KCC Office Use ONLY
Title: President Date: 2-12-04	Letter of Confidentiality Attached
ا بر ان در	If Denied, Yes X Date: 02-25-04
	Wireline Log Received
2004. Burn Hess	Geologist Report Received
Notary Public: Notary Public - State of Kansas	UIC Distribution
Date Commission Expires: BRYAN K. HESS	·

Operator Name:	Hess O	il Company	Lease Na	_{lme:} Janet		Well #· 2	2	
Sec Twp	<u>16</u> S. R. <u>22</u>	☐ East ☑ West	County:			- 11011 //.		
temperature, fluid re	en and closed, flowing covery, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, a inal geological well site	whether shut- along with final	in pressure reach	ed static level, hvdro	static pressur	es, bottom hole	
Drill Stem Tests Take		✓ Yes □ No			ation (Top), Depth a		☐ Sample	
Samples Sent to Ge	ological Survey	✓ Yes □ No		Name	-0	Тор	Datum	
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ No ☑ Yes ☐ No			RECEIVED FEB 17 20 KCC WILL	0 ¹⁴		
List All E. Logs Run:					FEB "NI	Chy.		
Dual Inductio Compensated	n, Miroresistivi d Porosity	ty, Dual			ACC.			
		CASING Report all strings set-		New Used	untion oto			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12-1/4"	8-5/8"	23#	235'	70/30 Poz	165	3%cc, 2%gel	
Production	7-7/8"	4-1/2"	10.5#	4395'	EA-2	150		
					& SMDC	235		
<u></u>		ADDITIONAL	CEMENTING /	SQUEEZE RECO	RD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks Use	d	Type and Pe	ercent Additives		
Shots Per Foot		ON RECORD - Bridge Plug			racture, Shot, Cement			
Specify Footage of Each Interval Perforated 8 4283'-4288' & 4295'-4304'					(Amount and Kind of Material Used) Depth 2000 gal. 15% HCI NE FE acid			
	1200 1200 a	1200 1001		2000 gai.	13 % FIGURE FE	aciu		
TUBING RECORD	Size 2-7/8"	Set At 4275'	Packer At	Liner Run	Yes V No			
Date of First, Resumer	d Production, SWD or Er 8-03	nhr. Producing Metl		owing Pum	ping Gas Lift	Othe	er (Explain)	
Estimated Production Per 24 Hours	0il E	Bbls. Gas	Mcf	Water 5	Bbls. Ga	s-Oil Ratio	Gravity 37	
Disposition of Gas METHOD OF COMPLETION			<u> </u>	Production Interval				
Vented Sold	Used on Lease	Open Hole Other (Speci	Perf.	Dually Comp.	Commingled	4283'-4	1304'	

RECEIVED

P.O. BOX 1009 McPHERSON, KANSAS 67460-1009 (620) 241-4640

FEB 1 7 2004

KCC WICHITA

ACO-1 Completion Form Attachment

Janet #2 Approx. N2 S2 NW, Section 5-16-22W Ness County, Kansas

Elevation: 2349' KB

FORMATION	LOG TOP	<u>DATUM</u>
Anhydrite	1695'	(+654') (sample)
Anhydrite	1732'	(+617') (sample)
Heebner	3705'	(-1356')
Toronto	3725'	(-1376')
LKC	3743'	(-1394')
Stark Shale	3958'	(-1609')
Base KC	4010'	(-1661')
Marmaton	4040'	(-1691')
Pawnee	4105'	(-1756')
Fort Scott	4191'	(-1842')
Cherokee Shale	4213'	(-1864')
Conglomerate	4275'	(-1926')
Mississippian	4329'	(-1980')
RTD	4400'	(-2051')
LTD	4402'	(-2053')

DST #1: <u>Depth</u>: 4210'-4284'. <u>Times</u>: 30-45-30-60. <u>Blows</u>: IF - weak, died in 25 min; FF - no blow.

Recoveries: 20' mud w/show of oil in tool. Pressures: IH 2107#, IF 23-29#, ISI 330#, FF 30-

33#, FSI 365#, FH 2010#

DST #2: <u>Depth</u>: 4210'-4294'. <u>Times</u>: 30-30-30. <u>Blows</u>: IF - weak steady 1/4" blow; FF - no blow.

Recoveries: 60' Mud w/show of oil on top. Pressures: IH 2116#, IF 26-39#, ISI 739#, FF 43-

50#, FSI 762#, FH 1970#

DST #3: Depth: 4210'-4304'. Times: 60-45-60-45. Blows: IF - weak, building to 1½"; FF - weak 1/4"

steady blow. Recoveries: 30' CO (80% oil, 20% mud), 15' MCO (40% oil, 60% mud), 116'

Slightly OCM (5% oil, 95% mud). Pressures: IH 2113#, IF 31-989#, ISI 1193#, FF 109-138#,

FSI 1171#, FH 2048#

DST #4: Depth: 4304'-4314'. Times: 30-30-0-0. Blows: IF - weak, died in 13 min. Recoveries: 5'

drilling mud. Pressures: IH 2178#, IF 16-21#, ISI 744#, FF none, FSI none, FH 2099#

SWIFT SERVICES, INC.

PO BOX 466

NESS CITY, 67560-0466

RECEIVED

FEB 1 7 2004 KCC WICHITA

Invoice

DATE	INVOICE#		
10/25/03	6090		

BILL TO

Hess Oil Company
PO Box 1009

McPherson, KS 67460-1009

TERMS	Well	No.	Lease	County	Contractor	Well Type	Well	Category	Operator	Job Purpose
Net 30	# 2	2	Janet	Ness	Mallard Drilling	Oil	Deve	lopment	Wayne	4 1/2" - 2 Sta
PRICE REF	ERE			DESCRIPTION	l	QTY		UNIT P	RICE	AMOUNT
575D	***************************************	Milag	ge				20		2.50	50.00
579D		Pump	Service Two-St	tage			1	1	,500.00	1,500.00
407-4		4 1/2	" Insert Float Sho	e with Auto Fill	[1		200.00	200.00
409-4		4 1/2	" Fluid Master Ce	entralizers			5		42.00	210.00
402-4		4 1/2	" Centralizers				1		34.00	34.00
403-4		4 1/2	" Cement Basket				1		115.00	115.00
408-4		4 1/2	" D.V. Tool & Pl	ug Set		1	1	2	,000.00	2,000.007
281		Mud	Flush				500		0.60	300.007
221		Liqui	d KCL				4		19.00	76.00
325	*	Ceme	ent			-	150		7.00	1,050.007
330		Swift	Multi-Density				235		9.75	2,291.25
276		Floce					97		0.90	87.30
284		Calse	al				7		25.00	175.00
283		Salt					750		0.15	112.50
285		CFR-	1	•			71		2.75	195.25
581D		Servi	ce Charge Cemer	nt -			385		1.00	385.00
583D		Draya	age				389.78		0.85	331.31
					•	,		~		
		Subto	otal			-				9,112.61
		Sales	Tax		-	,			5.30%	362.85
			,	¥	e e					-
						12				
						6403 NOV 24PA	D			
						101 8 4 h	la see			
-			•	r		180		.*		
	-			•	•	,				
Thank v	VOII 1	for	your bus	iness						
· · · · · · · ·	you	ı OI	youi bus					Total	*	\$9,475.46

' JOB LOG SWIFT Services, Inc. DATE 10-25-03 PAGE NO. WELL NO. JOB TYPE
41/2 - 2 STAGE LONGSTRING 150 223H TAUET PUMPS PRESSURE (PSI) VOLUME (BBD) (GAL) RATE (BPM) TIME **DESCRIPTION OF OPERATION AND MATERIALS** LOTADOL LO 1500 SHORT Y'L" CHERDE NI WELL 1630 SETE 4395' 70-4402 RECEIVED TP - 4395 4/2-10,5#/FF SJ- 42' 7 2004 TURBOLORS - 1,2,3,45 REGURE 64 KCC WICHITA BASKET - PEN 65 DV 1006 2 1667 TOP 37 \$ 65 1200 DROPBALL - CREWLATE 450 PUMP 500 GAC MUDFUSH 1832 12 450 PUMP 20 BBCS KCL-FLUSH 1834 20 1840 6 36 350 MBC CSYLUT - 150 SKS EA-2 1850 LASH OUT PUMP. LOWEL 1852 RELASE 1ST STACE SHUT OFF PWG 61/2 0 1855 DEPACE PLUG 1905 1250 PWG DOUN 69.2 1908 RELEASE PSE- HELD Deap Du openal pub 1910 1000 OPES BY YOOL - CORCURTE WELL YHES 1920 2300 PW BH-MH 6/12 230< PUMP 20 BRIS KCL - FLUSH 20 74 2310 MUCCOMUT - 235 SKS SMBC 130 1228 WASH OUT PUMP. LENES 2329 DEED DY CLOSSIC PLUC 2330 7 ۵ DESPUREE PWG 5 26.5 3335 SOO PWG DOWN 1500 PST UP - CLOSE BUTDOC 2338 RECUSE PSI- HELD COLUMNIES 20 SKS CEMUT TO POT V 9U HEAW 2400 JOB COMPLETE THUR YOU WAWE DAJE DUST

ALLIED CEMENTING CO., INC. 12918

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERVICE POINT:
DATE 19-18-03 5 16 226	ALLED OUT ON LOCALIST Co. 13	ATION JOB START JOB FINISH
	11 24 1	COUNTY STATE
or p op your	nell a xwest	765 173
OLD ORNEW (Circle one) 37 north - F	ast into	J
TYPE OF JOB DURGER POPE	OWNER Hess C	Oil Co.
HOLE SIZE 124 T.D. 235	CEMENT	101
CASING SIZE 8 5/8 DEPTH 335'	AMOUNT ORDERED	165 sx 60/40 3+2.
TUBING SIZE DEPTH		
DRILL PIPE DEPTH		
TOOL DEPTH PRES. MAX MINIMUM	COMMON 9914.	9 7 15 7079E
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	POZMIX 650	@ 7.15 70785 @ 3.80 250.90
CEMENT LEFT IN CSG.	GEL 3 Au	@ 10.00 32.00
PERFS.	CHLORIDE S ALL	@ 30ep 150,00
DISPLACEMENT /4 RB16		
EQUIPMENT		
AND WALL ITERATION		
PUMP TRYCK CEMENTER TACK		
# 22 HELPER Tim		
BULK TRUCK	HANDLING 1734	4 @ 1.15 198.95
# 34 DRIVER State BULK TRUCK	MILEAGE . /'/3/	4 05 20 17300
# DRIVER		TOTAL 1510.60
REMARKS: Run 5 /ts do 8 5/8 csq-cement with	22	SERVICE
165 sx cement - Displace plug with	DEPTH OF JOB 23	
143 BBIS OF FRESH WATER-	PUMP TRUCK CHARCE EXTRA FOOTAGE	ESZ0.00
Centent U.O. Cine.	MILEAGE Z	@ 3.50 70.00
	PLUG 1-8 1/8 (1)00	d @ 45.00 45.00
		@
1hanks		
1		TOTAL 63500
CHARGE TO: Hess O' Company		
	TOT	T IEOT IEDA MENTE
STREET P.O. Box 1009 CITY Mepherson STATE 15 ZIP 67460	. FLO.⁄ γ	AT EQUIPMENT
CIT I LICHTERSOIL STATE () LIF & ME		@
		@
		· @
	1	
To Allied Cementing Co., Inc.		@
You are hereby requested to rent cementing equipment	•	
and furnish cementer and helper to assist owner or		TOTAL
contractor to do work as is listed. The above work was		
done to satisfaction and supervision of owner agent or	TAX	
contractor. I have read & understand the "TERMS AND		01600000
CONDITIONS" listed on the reverse side.	TOTAL CHARGE	
	DISCOUNT	IF PAID IN 30 DAYS
SIGNATURE JUNON R Ulla	LAVON F	Chran
ANYAD	PLICABLE TAX	PRINTED NAME
		,
V V All Mark Mark 1	BE CHARGED INVOICING	

RECEIVED
FEB 1 7 2004
KCC WICHITA